PIC Optimization Example

const char str[] = “test"; [GCC]
extern char havePrinted; .LPIC1:
bool foo(int i) .LPIC2:
{

do{

havePrinted = 'a’;

if (havePrinted && !false) {

((void)0);

havePrinted = strli];

} L4:
twhile (0);

.L3:

return false;

}
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LLVM Result Comparison

[BEFORE] Idr.n rl, .LCPIO_1 [AFTER] Idr.n rl, .LCPIO_O
ldr.n r3, .LCPIO_O ldr.n r2, .LCPIO 1
.LPCO_0: .LPCO_1:
add rl, pc add rl, pc
ldr.n r2, .LCPIO_2 ldrb r0, [r1, rO]
add r3, rl .LPCO_0:
ldrb r0, [r3, rO] add r2, pc
ldr r1, [r2, ri1] Idr r1, [r2]
strb r0, [r1] strb r0, [r1]
Movs ro, #0 Mmovs ro, #0
bx Ir bx Ir
.align 2 .align 2
.LCPI0O_O: .LCPIO_O:
long _ZL3str(GOTOFF) long _ZL3str-(.LPCO_1+4)
.LCPIO_1: .LCPIO_1:
long _GLOBAL _OFFSET_TABLE - .LtmpO:
(.LPCO_0+4) long
.LCPIO_2: havePrinted(GOT_PREL)-

long havePrinted(GOT) ((.LPCO_0+4)-.Ltmp0)




